o o o o

godbgbgbobouooubouboobooboobobobnouoogo
oo@oboooboboooobooobbuoo)ybbooobbooooo
ljfgbgbdoboouuououoobgb oo obobobobon
guobgoboobooboobooboobote-ooooad

goboobbooboobgoobouobooobooboobboon
gogdbobdgbdbdoboouoouobobobobobououooboooa
gobogboobobouboobgubooboobooobooboo
goodobbbodoguoobbbooouoobboooooon

godbgbgbobouooubouboobooboobobobnouoogo
gobogboobobouboobgubooboobooobooboo
gogdbobdgbdbdoboouoouobobobobobououooboooa
gogdbobdgbdbdoboouoouobobobobobououooboooa
goodoobboboooouooobodoad

oododsgs9o oo ooooooboboboooooooo
ODododbbooooooboboooooui-ibo 0 oKRelvinO oo o
OO0d0dbobbo0o0o0oouobbbbDU Kelvin OOODODODO Dirichlet
O0000o0obOo0o0o00gooooo0oogg Dirichlet 00000
goooon

O00000000000000Kelvin 0000 0O0OLDODOO O O 00O0ODO
ID00@UOoOoobboooO)yDoogdDirichletD D DODODDODODO@WO
ooogoobooo)y ooooobboooououobboboooooooo
gobgdno

ooddds9poooooobbbooooouobbbbooooooo
gobogboobobouboobgubooboobooobooboo
guobgoogd



